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Note:
1. Question 1 is compulsory.
2. Attempt eny four questions from the remaining six questions. @

10

‘ b) What is deadlock? What are the necessary conditions for dead ck‘?gn the 10
f j @

1. a) Explain different File Allocation Techniques.

techniques for handling deadlock?

a) Differentiate between the following: K .
1) Monolithic kernel & Microkernel @ |
2) User level Thread & Kemel Level Thread s, “tus

b) Explain the concept of Demand paging? On a simple

nple paging system with 64 7
entries of 11 bits(including valid/invalid bit)€aéh, snd a page size of 512 bytes.

a) How many bits in a logical address,specif
b) How many bits in a logical address spe

a) Consider the following set of proce 8
Process | Arri imey " Burst Time
A
B
c
D
ing process scheduling algorithm.
#$ Fist come-first served
7

What is Semaphore? How semaphores are used to solve the Producer Consumer 8

problem?
b) Explain different types of thread models. 7
[TURN OVER]
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5. a) Given the disk has 200 (0-199) cylinders. Suppose the disk queue
contains the request for 1/0 to blocks on the cylinder in following

order:

55, 58, 39, 18, 90, 160, 150, 38, 184

The head of the disk drive is currently at cylinder at 100, pre
request served was 130. What are the total head MOovemg '
following algorithms? "-;-1;:_‘
a) FIFO b)SSTF ¢) SCAN
b) Explain Direct Memory Access in detail.
6. 2) Given reference string to the following pages byl

0,9,0,1,8,1,8,7,8,7,1,2,8,2,7 8,2, 3(8, 3
How many page default will occur for the | Moy

assuming three frames?
i) LRU Replacement.
‘ i)

a) Monitors
Android OS __ " )"

' YQ-Con. 7166-16.

15




